



(d)  $T(n) = T(\sqrt{n}) + 1.$

For convenience, we assume that  $n = 2^{2^k}$ , for some natural value  $k$ .

$$\begin{aligned}
 T(n) &= T(\sqrt{2^{2^k}}) + 1 = T(2^{2^{k-1}}) + 1 \\
 &= T(\sqrt{2^{2^{k-1}}}) + 1 + 1 = T(2^{2^{k-2}}) + 2 \\
 &= T(\sqrt{2^{2^{k-2}}}) + 1 + 2 = T(2^{2^{k-3}}) + 3 \\
 &\quad \dots \\
 &= T(2^{2^{k-k}}) + k \\
 &= T(2) + k \\
 &= \Theta(k)
 \end{aligned}$$

Note that  $k = \lg \lg n$ , which implies that  $T(n) = \Theta(\lg \lg n)$ .

(e)  $T(n) = \sqrt{n} \cdot T(\sqrt{n}) + n.$

We assume for convenience that  $n = 2^{2^k}$  and  $T(4) = 4$ , and use induction to prove the following equality:

$$T(2^{2^k}) = 2^{2^k} \cdot k.$$

This equality holds for  $k = 1$ :

$$T(2^{2^1}) = T(4) = 4 = 2^{2^1} \cdot 1,$$

and the induction step is as follows:

$$\begin{aligned}
 T(2^{2^{k+1}}) &= \sqrt{2^{2^{k+1}}} \cdot T(\sqrt{2^{2^{k+1}}}) + 2^{2^{k+1}} \\
 &= 2^{2^k} \cdot T(2^{2^k}) + 2^{2^{k+1}} \\
 &= 2^{2^k} \cdot (2^{2^k} \cdot k) + 2^{2^{k+1}} \\
 &= (2^{2^k})^2 \cdot k + 2^{2^{k+1}} \\
 &= 2^{2^{k+1}} \cdot k + 2^{2^{k+1}} \\
 &= 2^{2^{k+1}} \cdot (k + 1)
 \end{aligned}$$

Note that  $k = \lg \lg n$ , which implies that  $T(n) = \Theta(n \cdot \lg \lg n)$ .